]
STEP 3

I

STEP 1

1. REMOVE THE CONTACT FROM
THE COVER

STEP 2

2. WITH SOMEONE ELSE'S HELP, PLACE THE
TOP UPSIDE DOWN ON A CLEAN SURFACE

3. ALIGN THE LEGS WITH THE HOLES IN THE BOTTOM OF THE COVER AND
FIX IT USING THE DOWEL 1/2 X 1-1/2"

STEP 4

4. ONCE’S THE LEGS ARE IN PLACE, INSERT THE SOCKET ALLEN
BUTTON HEAD 5/16 x 1-1/4" AS SHOWN IN PICTURE B.

IS ———

N\

—_——

INTERNAL VIEW

ASSEMBLING
INSTRUCTIONS

I-DSK-E018

SPLIT LOCK WASHER 5/16"
FLAT WASHER 5/16"

DESCRIPCION

FLAT WASHER 5/16"

SPLIT LOCK WASHER 5/16"

SOCKET ALLEN BUTTON HEAD 5/16 X 1-1/4"

DOWEL 1/2 X 1-1/2"

JOIN CONNECTOR BOLT 1/4 X 1-1/2"

N | N | O | O] O

ALLEN KEY 3/16"




STEP 5 7N\

POSITION YOURSELF ON THE INNER SIDE OF THE PANEL.
INSERT THE 1/4 X 1-1/2" CONNECTOR BOLT,
ALIGNING IT WITH THE HOLES. REPEAT THE /m\

SAME ACTION ON THE OTHER SIDE.

——JOIN CONNECTOR BOLT 1/4 X 1-1/2"

>
X In - L
~o~

STEP 6
6. FINALLY, PUT THE CONTACT TOOTH ﬁ
BACK IN PLACE —D~_ \L

(
N
\
=

/ DESCRIPCION #
~d o FLAT WASHER 5/1¢6" 6
SPLIT LOCK WASHER 5/16" 6

ASSEMBLING .
INSTRUCTIONS SOCKET ALLEN BUTTON HEAD 5/16 X 1-1/4 6
(\ M DOWEL 1/2 X 1-1/2" 4
: JOIN CONNECTOR BOLT 1/4 X 1-1/2" 4

W‘"’/ I-DSK-E018 / /

ALLEN KEY 3/16" 1




DESCRIPCION #
RONDANA PLANA 5/16" 6
RONDANA DE PRECION 5/16" 6
TORNILLO ALLEN CABEZA BOLA 5/16 X 1-1/4" 6
PERNO DE MADERA 10 X 40 mm 4
TORNILLO PERNO UNION DE 1/4" X 40MM 4
LLAVE ALLEN 3/16" 1

EL TORNILLO PERNO UNION NO ES NECESARIO PINTARLO VA POR LA PARTA

INTERNA

ASSEMBLING
@ INSTRUCTIONS

I-DSK-E018



	Hoja1
	Vista de dibujo1
	Vista de dibujo4
	Vista de dibujo11
	Detail View A (1 : 10)
	Detail View B (1 : 8)
	Drawing View2
	Detail View E (1 : 10)

	Sheet3
	Drawing View1
	Drawing View5
	Detail View C (1 : 5)
	Detail View D (1 : 10)

	Hoja3

